
 
Find a closed form: 

𝐈 = ∫ 𝐱(𝟏 − 𝐱𝟐)𝐋𝐢𝟑(−𝐱𝟐)𝐝𝐱
𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 

Solution 1 by Yang Silva Cartolin-Peru 

𝐈 = ∫ 𝐱
𝟏

𝟎

𝐋𝐢𝟑(−𝐱𝟐)𝐝𝐱 − ∫ 𝐱𝟑𝐋𝐢𝟑(−𝐱𝟐)𝐝𝐱
𝟏

𝟎

 

𝑰 = ∑
(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

∫ 𝒙𝟐𝒏+𝟏𝒅𝒙
𝟏

𝟎

− ∑
(−𝟏)𝒌

𝒌𝟑

∞

𝒌=𝟏

∫ 𝒙𝟐𝒌+𝟑𝒅𝒙
𝟏

𝟎

 

𝑰 = ∑
(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

∫ 𝒙𝟐𝒏+𝟏𝒅𝒙
𝟏

𝟎

− ∑
(−𝟏)𝒌

𝒌𝟑

∞

𝒌=𝟏

∫ 𝒙𝟐𝒌+𝟑𝒅𝒙
𝟏

𝟎

 

𝑰 =
𝟏

𝟐
∑

(−𝟏)𝒏

𝒏𝟑(𝒏 + 𝟏)

∞

𝒏=𝟏

−
𝟏

𝟐
∑

(−𝟏)𝒌

𝒌𝟑(𝒌 + 𝟐)

∞

𝒌=𝟏

 

𝑰 =
𝟏

𝟐
(∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

− ∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

+ ∑
(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

− ∑
(−𝟏)𝒏

(𝒏 + 𝟏)

∞

𝒏=𝟏

) 

−
𝟏

𝟐
(

𝟏

𝟖
∑

(−𝟏)𝒌

𝒌

∞

𝒌=𝟏

−
𝟏

𝟒
∑

(−𝟏)𝒌

𝒌𝟐

∞

𝒌=𝟏

+
𝟏

𝟐
∑

(−𝟏)𝒌

𝒌𝟑

∞

𝒌=𝟏

−
𝟏

𝟖
∑

(−𝟏)𝒌

(𝒌 + 𝟐)

∞

𝒌=𝟏

) 

𝑰 =
𝟕

𝟏𝟔
∑

(−𝟏)𝒌

𝒌

∞

𝒌=𝟏

+
𝟑

𝟖
∑

(−𝟏)𝒌−𝟏

𝒌𝟐

∞

𝒌=𝟏

−
𝟏

𝟒
∑

(−𝟏)𝒌−𝟏

𝒌𝟑

∞

𝒌=𝟏

−
𝟏

𝟐
∑

(−𝟏)𝒌

(𝒌 + 𝟏)

∞

𝒌=𝟏

+
𝟏

𝟏𝟔
∑

(−𝟏)𝒌

(𝒌 + 𝟐)

∞

𝒌=𝟏

 

𝑰 = −
𝟕

𝟏𝟔
𝒍𝒐𝒈(𝟐) +

𝟑

𝟖
𝛈(𝟐) −

𝟏

𝟒
𝛈(𝟑) −

𝟏

𝟐
∑

(−𝟏)𝒌−𝟏

𝒌

∞

𝒋=𝟐

−
𝟏

𝟏𝟔
∑

(−𝟏)𝒌−𝟏

𝒌

∞

𝒋=𝟑

 

𝑰 = −
𝟕

𝟏𝟔
𝒍𝒐𝒈(𝟐) +

𝟑

𝟖
(

𝟏

𝟐
𝛇(𝟐)) −

𝟏

𝟒
(

𝟑

𝟒
𝛇(𝟑)) −

𝟏

𝟐
(𝒍𝒐𝒈(𝟐) − 𝟏) −

𝟏

𝟏𝟔
(𝒍𝒐𝒈(𝟐) −

𝟏

𝟐
) 

𝑰 =
𝛑𝟐

𝟑𝟐
−

𝟑

𝟏𝟔
𝛇(𝟑) − 𝒍𝒐𝒈(𝟐) +

𝟏𝟕

𝟑𝟐
 



 
Solution 2 by Yang Silva Cartolin-Peru 

𝑰 = ∫ 𝒙
𝟏

𝟎

𝑳𝒊𝟑(−𝒙𝟐)𝒅𝒙 − ∫ 𝒙𝟑𝑳𝒊𝟑(−𝒙𝟐)𝒅𝒙
𝟏

𝟎

 

𝑳𝒆𝒕: 𝑨 = ∫ 𝒙
𝟏

𝟎

𝑳𝒊𝟑(−𝒙𝟐)𝒅𝒙 

𝑰𝑩𝑷: 𝒖 = 𝑳𝒊𝟑(−𝒙𝟐) → 𝒅𝒖 =
𝟐

𝒙
𝑳𝒊𝟐(−𝒙𝟐)𝒅𝒙,  𝒅𝒗 = 𝒙𝒅𝒙 → 𝒗 =

𝒙𝟐

𝟐
 

𝑨 = [
𝒙𝟐

𝟐
𝑳𝒊𝟑(−𝒙𝟐)]

𝟎

𝟏

− ∫ 𝒙
𝟏

𝟎

𝑳𝒊𝟐(−𝒙𝟐)𝒅𝒙 =
𝟏

𝟐
(−

𝟑

𝟒
𝜻(𝟑)) − ∫ 𝒙

𝟏

𝟎

𝑳𝒊𝟐(−𝒙𝟐)𝒅𝒙 

𝑰𝑩𝑷: 𝒖 = 𝑳𝒊𝟐(−𝒙𝟐) → 𝒅𝒖 = −
𝟐

𝒙
𝒍𝒏(𝟏 + 𝒙𝟐)𝒅𝒙,  𝒅𝒗 = 𝒙𝒅𝒙 → 𝒗 =

𝒙𝟐

𝟐
 

𝑨 = −
𝟑

𝟖
𝜻(𝟑) − ([

𝒙𝟐

𝟐
𝑳𝒊𝟐(−𝒙𝟐)]

𝟎

𝟏

+ ∫ 𝒙
𝟏

𝟎

𝒍𝒏(𝟏 + 𝒙𝟐)𝒅𝒙) 

𝑨 = −
𝟑

𝟖
𝜻(𝟑) −

𝟏

𝟐
(−

𝝅𝟐

𝟏𝟐
) − ∫ 𝒙

𝟏

𝟎

(∑
(−𝟏)𝒌−𝟏

𝒌

∞

𝒌=𝟏

𝒙𝟐𝒌) 𝒅𝒙 

𝑨 = −
𝟑

𝟖
𝜻(𝟑) +

𝝅𝟐

𝟐𝟒
− 𝒍𝒐𝒈(𝟐) +

𝟏

𝟐
∴ 

𝐋𝐞𝐭: 𝐁 = ∫ 𝐱𝟑𝐋𝐢𝟑(−𝐱𝟐)𝐝𝐱
𝟏

𝟎

 

𝐈𝐁𝐏: 𝐮 = 𝐋𝐢𝟑(−𝐱𝟐) → 𝐝𝐮 =
𝟐

𝐱
𝐋𝐢𝟐(−𝐱𝟐)𝐝𝐱,  𝐝𝐯 = 𝐱𝟑𝐝𝐱 → 𝐯 =

𝐱𝟒

𝟒
 

𝐁 = −
𝟑

𝟏𝟔
𝛇(𝟑) −

𝟏

𝟐
∫ 𝐱𝟑𝐋𝐢𝟐(−𝐱𝟐)𝐝𝐱

𝟏

𝟎

 

𝐈𝐁𝐏: 𝐮 = 𝐋𝐢𝟐(−𝐱𝟐) → 𝐝𝐮 = −
𝟐

𝐱
𝐥𝐧(𝟏 + 𝐱𝟐)𝐝𝐱,  𝐝𝐯 = 𝐱𝟑𝐝𝐱 → 𝐯 =

𝐱𝟒

𝟒
 

𝑩 = −
𝟑

𝟏𝟔
𝛇(𝟑) −

𝟏

𝟐
(−

𝛑𝟐

𝟒𝟖
+

𝟏

𝟐
∫ 𝒙𝟑𝒍𝒏(𝟏 + 𝒙𝟐)𝒅𝒙

𝟏

𝟎

) 

𝑩 = −
𝟑

𝟏𝟔
𝛇(𝟑) +

𝛑𝟐

𝟗𝟔
−

𝟏

𝟖
∑

(−𝟏)𝒌−𝟏

𝒌(𝒌 + 𝟐)

∞

𝒌=𝟏

 



 

𝑩 = −
𝟑

𝟏𝟔
𝛇(𝟑) +

𝛑𝟐

𝟗𝟔
−

𝟏

𝟏𝟔
∑

(−𝟏)𝒌−𝟏

𝒌

∞

𝒌=𝟏

+
𝟏

𝟏𝟔
∑

(−𝟏)𝒌−𝟏

𝒌 + 𝟐

∞

𝒌=𝟏

 

𝑩 = −
𝟑

𝟏𝟔
𝛇(𝟑) +

𝛑𝟐

𝟗𝟔
−

𝟏

𝟏𝟔
𝒍𝒐𝒈(𝟐) +

𝟏

𝟏𝟔
(𝒍𝒐𝒈(𝟐) −

𝟏

𝟐
) = −

𝟑

𝟏𝟔
𝛇(𝟑) +

𝛑𝟐

𝟗𝟔
−

𝟏

𝟑𝟐
∴ 

𝑰 = 𝑨 − 𝑩 ⇒ 𝑰 =
𝛑𝟐

𝟑𝟐
−

𝟑

𝟏𝟔
𝛇(𝟑) − 𝒍𝒐𝒈(𝟐) +

𝟏𝟕

𝟑𝟐
∴ 

 

 


